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Reference Diagrams 
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Reference Diagrams 

 

Available Strength of Fillet Welds  

per inch of weld (S) 

Weld Size 
(in.) 

E60XX 
(k/in.) 

E70XX 
(k/in.) 

16
3  3.58 4.18 

¼ 4.77 5.57 

16
5  5.97 6.96 

8
3  7.16 8.35 

16
7  8.35 9.74 

½ 9.55 11.14 

8
5  11.93 13.92 

¾ 14.32 16.70 

 (not considering  increase in throat with 

submerged arc weld process) 
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Reference Diagrams 

A
32

5,
 A

32
5M

 
F

18
58

 
A

35
4 

G
ra

de
 B

C
 

A
44

9 

A
49

0,
 A

49
0M

 
F

22
80

 
A

35
4 

G
ra

de
 B

D
 

 



ARCH 331 Final Examination Reference F2013abn 

 12 

Reference Diagrams 
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Reference Diagrams 
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Reference Diagrams 
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Reference Diagrams 



ARCH 331 Final Examination Reference F2013abn 

 16 

 

Reference Diagrams 



ARCH 331 Final Examination Reference F2013abn 

 17 

 

R
ef

er
en

ce
 D

ia
g
ra

m
s 

 

 f
o
r 

w
h
ic

h
 

 i
s 

p
er

m
it

te
d
 t

o
 b

e 
0
.9

  



ARCH 331 Final Examination Reference F2013abn 

 18 

 
Area = bh 

x = b/2 

y  = h/2 

 

Area = 
2

bh  

3
bx   

3
hy   

 

Area = 
4

2
2 dr    

 

x = 0 

y  = 0 

 

 

Area = 
82

22 dr    

 

x = 0 y  = 
3

4r  

 

Area = 
164

22 dr    

x = 
3

4r  

y  = 
3

4r  

 

Area = ab  

 

x = 0 

y  = 0 

 

 
Area = 

3
4ah  

x = 0 y  = 
5

3h  

 

 Area = 
3

ah  

 

x = 
4

3a  y  = 
10

3h  

xI = 16ah3/175 

yI = 4a3h/15 

xI = 37ah3/2100 

yI = a3h/80 

 

xI = 0.1098r4 

yI = r4/8 

xI = 0.0549r4 

yI = 0.0549r4
 

hbI 'y

3

36
1  

about 
 bottom 

 left 

Reference Geometry 

 

x
b

Triangle 


